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H~ EIRBE:
1. EERBE:
KRBT : 759.3mmHg  GERE :22.9°C HEH ¢ 107/04/13

B 1180 RPM  EBE : 100V BJi P 48A EHAILE : 0.71 kKW

= 9)i [ FEER Psl v ZEBR P/ B Ah=Py(=P1-Ps) / v
(mm JRAE) (mm J&HE) (mm J&FE)
1 3 12 9
2 2.8 14 11.2
3 2.8 14 11.2
4 2.6 12 9.4
5 2.6 12 9.4
6 2.6 12 9.4
7 2.6 14 114
8 2.8 12 9.2
2.725 12.75 10.03
PEIE
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€

_ P 759.3x13.6x9.8
RT 287x(273+22.9)

B

=1.192kg/m’

A

JE 2R
v _ [294h _ \/2><9.8x10.03><0.826
' p 1.192

=11.67(m/s)

J
Q=AV, 60 :%XO.?)Z x11.67x 60 = 49.5(m°/min)

il

SRR ZE RN T
- PQ _0826x12.75x9.8x49.5 _ 0.0851(kw)
60x1000 60x1000
AR ZE RN T
L P,.Q _0.826x2.725x9.8x49.5 _ 0.0182(kw)
601000 601000

B

c

I IS ES
=1 x1009% = 291 _11 9904
] 0.71

SISYES
e === x100% = 22282 _ 5 5604
0.71

X
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HE 930 980 1080 1130 1180 1230 1280
RPM RPM RPM RPM RPM RPM RPM RPM
7 . . . 12.75 . .
P P 8.5 11.25 | 11.75 1488 | 165
(mm L)
1.225 . . . 2725 | 2. .
S 1.59 1.995 | 2.25 2812 | 3.05
(mm JRFE)
5.775 10.03
EEE Ah=P/ 6.91 9.275 9.5 12.06 | 13.45
v (mm R
22 EIEE 0 1.19 1.192 1183 | 1.183 | 1.192 | 1.183 | 1.192
(kg/m®)
SEHEEE Y (mis) | 8.79 9.69 1126 | 114 | 11.67 | 12.84 | 135
A& Q (m¥min) | 37.31 411 47.7 483 | 495 | 5445 | 57.3
BB RETT Ls 5.03 8.82 127 | 1466 | 18 206 | 2357
(kw) x10° x1072 x103 | x10® | x10° | x10® | x103
RSB Ly | 0.035 | 0.0471 0.072 | 0.076 | 0.0182 | 0.109 | 0.128
(kw)
MAEE (V) 60 60 80 90 100 109 120
MAETR (A) 4 4 4.5 45 4.8 5 5
B AT L (kW) 0.3 0.35 0.5 0.6 071 | 0.85 1
BRI s 2.05 2.52 2.54 244 | 256 | 2429 | 2.36
(%)
LRI R 1) 1 11.7 13.46 144 | 1275 | 11.99 | 128 | 128
(%)
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(1)
P. x0.826
o _273+20 (7 /13-6)+P><Q
STP 273+ T, 760
Q:E =
P: KRBES)
Td: KRR
P, x0.826
13.6 i

(KER#ELLEE:13.6- AL 4E/K & FELLEE: 0.826)

)
12.75x%0.826 +759.3
Q. = 273+20 ( °13.0) x 49.5 = 49.01(m°/min )
273+ 22.9 760
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